EAGRAROBREERT — 2 N— ABISH —F

20205108310 (£) 9EEH5H

Sl C3—4 C3 #5%—1# BRI R
[A&4£] 1 7 :400,000 @ ~ 2 3#&:140,000  ~ 33#&:80,000 ~ 43#%&:60,000™ . 53 :40,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
s s o =%E :27. —0-1- . — THEIR (FH)
il vryrEe—2x 5 5Eé.o 1(2_7)3 2-2-1-1 | 41.9 1 (4+e12) oSt @
R/ RS vyy BT Tz T ESdHhTT— L4
A G 1:28.1 3-3-3-2 | 42.6| — 2 445 | KEAEEA (BA)
2|55 |7BLT IV 56.0 ) (+5) (E]) J P NHEHR
Lib—t>5— B:xx/I—Fzx ad<ie )
RS, = it 4 | EEEH :28.1 4-4-4-3 | 41.6| — 9 467 | WBHETH (SH0)
3|80 Ea Y T 54.0 ) @5 | W) Tr-2pEvar
L:E>TFAOVY BATRy T fx::Eie ]
N ZHEHRL : —10-8- — BIFFES (FH)
N - NESSEPE =P 4 8 S 1(72?:)2 8-10-8-7 | 40.5 7 (4;3) EE#;%
RIVINATA—H— BFAALAX B O 435
v S 3 | HhERtA 1:28.9 10-7-7-6 | 41.7| — 3 459 | BHEZ (SH)
slglg| d-ILEATL "0 ® G | EERE T
L b=t RILEY BieAUTA HEE {5—
AHERE :29. -9-9- . — EEEE (BH)
N : NPER RS H o9 A 1(72?:5) 9-9-9-4 |41.4 5 (5+133) e
RV KYIYRIR BiRRLFTIR— =latie
S £ 8 | KHRAE 1:29.0 5-5-5-5 | 42.3| — 8 482 | HEBRIEX (BH)
i > EARARRERN 77| 60 757) o) | EEA
L:d—IRAnq1O0—- B:=Z>F<wTalvy fidibae]
o — HEIBThIR : —8-10- — B (FH)
1 : REAZES ST LI il (12.219/.25) 6-8-10-9 | 41.8 4 (4;9) /J\%;gﬁ
Rix4avf—-5— B:vyJa—L &I E—
N . BAMEKR :30. -6-6- . - E#EE (SH)
ol7lg|vrE—"> 6 5%.0‘( 1(334 7-6-6-10 | 43.4 6 :3;0) g
LHYRT4 TS5 B:Fv—LI I plltie)
PN X > 8 | WK 1:33.1 1-1-1-8 [47.8| — | 10 | 505 |#BEMEEE &)
1l 7|777>/7%3 % 5.0 (241 4) (3 | KEH=
R:YIINS Lt~ B:F=a HITS
® 1 —F—@EBIERL
13—7+— 7,1,5,10,2,3,8,6,4,9
20—F— 7,1,5,10,2,8,9,3,4,6
Ja=9= (1,7),5,10,2,8,9,6,4,3
43—+ — 1,5,10,4,2,9,6,7,3,8
[ /N
B 1 110 714K 1-5 210 e E 1-5 270M JEE 1-5-10 3,360
B B 1 1004 1-10 1,160H B = 55 310 3B 1-5-10 5,840
5 120 5-10 2,370H B H 1-5 320M
10 1,120

ARICOVWTRDTEEERROODE. TR LI,




